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TAl LIEU ON TAP VIMO 2022

PHAN THI TRAC NGHIEM

« M3i cau tra 15i ding dugce cong 4 diém (Correct answer get 4 points).
« MG&i cAu tra 16i sai bi TRU 1 diém (Wrong answer minus 1 point).

 Khong tra 18i duge 0 diém (No answer get 0 points).

B&i 1. Véi a,b,c,d € N, tinh a + b+ ¢+ d. Biét rang:
For a,b,c,d € N, calculate a + b+ ¢ + d knowing that:

21?7 = 4% = 8" = 16° = 64°

(A) 10. B) 12. (C) 13. (D) 15. (B 16.

B&i 2. Tim n 16n nhat dé BCNN(1,2,3,4,...,2020) chia hét cho 2.
Find the largest number n so that the LCM(1,2,3,4,...,2020) (Least Common Multiple) is divisible by

2",
(A) 10. B) 12. (C) 1024. (D) 1010. (E) 2020.

Bai 3.
o« Tom chi néi that vao nhitng ngay ma ngay dé chia hét cho 3 (vi du 03/01,06/02,...).
o Jerry chi néi that vao nhitng ngay ma ngay do6 chia hét cho 4 (vi du 04/01,08/02,...).

Héi trong thang 01/2021 ¢6 bao nhiéu ngdy ma ca Tom va Jerry déu néi: "Hom qua t6 néi ddi"?
o Tom only tells the truth on days that are divisible by 3 (eg January 3™ , February 6™ .. .).
o Jerry only tells the truth on days that are divisible by 4 (eg January 4%, February 8, .. .).

In January 2021, how many days did both Tom and Jerry say, "I lied yesterday?"’

(A)12. B) 4. ©) 7.
@ 9. @ Dép an khéc (None of
them).

B&ii 4. Cho tap hop A = {1;11;111;...;111...11;111...11}.
—_—
) R 35 chitsé 1 36 chit s6 1
Hoi ¢6 tat ca bao nhiéu phan tit cia A 1a uée cia so 111...11 7
—
36 chit so 1
Given a set A = {1;11;111;...;111...11; 111...11}.
—_—

35 digits 1 36 digits 1
how many elements of A are factors of 111...117
—_—

36 digits 1

(A)6. B)Ss. (©)9. (D) 10. E) 12.
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Bai 5. Ngudi ta dinh nghia n! 14 tich cia cac s6 tu nhién tit 1 dén n. Vi du: 20211 =1 x2x 3 x - - - x 2021.
Tim gid tri nhé nhat ctia n sao cho n! vita chia hét cho 2020 vita chia hét cho 2021 .

We define n! (n factorial) is the product of the natural numbers from 1 to n. For example, 20211 =
1x2x3x---x2021
Find minimum value of n such that n! both divisible by 2020 and 2021.

(A)2021. (B) 43. (C) 47. (D) 101. (E) 2020.

PHAN DIEN DAP s

« M3i cau tra 15i ding duge cong 6 diém (Correct answer get 4 points).

o MB>i cau tra 15i sai hodc khong tra 16i duge 0 diém (Wrong answer or no answer get 0 point).

B&i 6. Mot hinh khéi dude ghép tit céc hinh lap phuong nhé bang nhau c¢6 canh 14 1 em. Khi nhin tit
truée ra sau va nhin tit phai qua trai thi dudgc hai hinh anh nhu bén duéi. Hoéi dién tich toan phan lén
nhat cta hinh khéi d6 ¢6 thé bang bao nhiéu?

A puzzle block is made up of identical small cubes with side 1 cm. When looking from front to back and
looking from right to left, there are two figures as shown below. What is the largest total surface area of
that puzzle block?

Goc nhin tur truée ra sau Go6c nhin tu phai qua trai
Viewed from front to back Viewed from right to left

Bai 7. C6 mot ¢ mdy xit If s6 tu nhién ¢ hai chiic nang sau:
o Néu dau vao 1a s6 chan, c6 may sé chia 2.
o Néu dau vao 1a s6 1&, cd may sé tru 1.

Va cit tiép tuc nhu vAy cho dén khi két qua cudi cling 13 0 . Biét mét s6 sau khi ¢ may xit If 10 lan thi
duoce két qua 1a 0 . Tim s6 nhoé nhat ¢6 thé.
Vi du: Néu dau vao 1a 6

6 —3—2—1—0 (4 budc xt li)

There is a natural number machine that has the two following functions:
o If the input is an even number, the machine will divide by 2.
o If the input is an odd number, the machine will subtract 1.

And so on until the final result is 0. Knowing a number after the machine processes it 10 times will get 0

, find the possible smallest number.

Trang 3
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Example: If the input is 6
6 —3—2—1—0 (4 steps of processing)

.. c 1 . . . 4 )
Bai 8. Phan s6 dang —, (n € N*,n > 2) dugce goi 1a cdc phan s6 Ai Cap. Khi viét phan so B thanh tong
n
ctia hai phan s6 Ai Cap, ta dugc:
4_1.1
15 a b

Tinh gia tri nhé nhat cta a + b.
1 4
Fractions in the form —, (n € N*,n > 2) are called Egyptian fractions. When you write the fraction — as

the sum of two Egyptian fractions, you get:

Calculate the minimum value of a + b.

B&i 9. Cho hai hinh vuéng duge ddt vao nhau nhu hinh minh hoa. Biét rang canh ciia hinh vudng 16n 1
8 cm va dién tich phan dugc gach soc 16n hon dién tich phan bi cham 14 4 cm?. Tinh tong dién tich cac
phan khéng t6 (don vi cm? ).

Two squares are placed together as shown. Knowing that the side of the large square is 8 cm and the

stripped area is 4 cm? larger than the dotted area, calculate the total area of the blank parts (in cm?).

A
~

Bdi 10. Thay gido phat keo cho hoc sinh 16p 6C nhu sau:

. 1 .,
Em thit nhat duge 1 vién keo va o so vién keo con lai.

1
Em thit hai duge 2 vién keo va o s0 vién keo con lai.

1
Em tht ba duge 3 vién keo va 21 s0 vién keo con lai.

Em cuoi cung nhan dugce hét s6 vién keo con lai, s0 keo ma em cudi cung nhan duge ding bang so
thit tu ctia minh.

Biét rang, v6i cdch phat nhu trén, méi em déu duge nhan s6 vién keo bang nhau. Hdi 16p 6C ¢6 bao nhiéu
hoc sinh nhan duge keo?

The teacher give candies to students in grade 6C' as follows:

Trang 4
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1
The first student gets 1 candy and 77 of the remaining candies.
. 1 . .
The second student gets 2 candies and 21 of the remaining candies.

1
The third student gets 3 candies and 2T of the remaining candies.

The last student gets all the remaining candies, and the number of candies he receives is exactly equal

to his assigned number.

Knowing that with the above method, each student will receive an equal number of candies, how many

students in class 6C received candies?

D | 2. A | 3. D | 4. C | 5. D \

6.

0054 | [7. 0047 | [8. 0016 | [9. 0012 | [10. 0020 \

Trang 5
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